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Massive problem… 
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extended theory 
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P.Higgs 
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The Higgs mechanism illustrated: 

…and a solution: 

Higgs particle Particle in higgs field 
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~ 20 x Tevatron 
for mH=120 GeV 

 Higgs production and decay 



Constraints on the Higgs mass 
from LEP and Tevatron 

http://lepewwg.web.cern.ch/LEPEWWG/ 

(assuming there is nothing else than the Standard Model) 



 A LEP Higgs boson? 

 



H →  candidate 

 

m2
γγ= 2 E1 E2 (1-cosα) 



  vs 0 

Deduce Z 
of primary 
vertex 

Data 

4mm -strips 



Bump hunting 

 



 



A discovery 

 



Higgs → ZZ  candidate 



H → WW candidate 

 



H → WW angle 





Higgs couplings to dibosons 



Spinless particle? 

 


